N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} F (%] F [%]
s F . S F £
S0k : ook g
E : S F i}
i : B &10
10°F : 1 =
E : : =
o . . o°
10°F . : 10°
F : : 10
10%F . : 10
10F SRR -
E : b
== HBRiliE S8ALE
i B -_ [o = g
: : 11 : 0.95F
06F--r=--F--I1l"] - b S B R 06 --t--F--F- ERFEEE & EEEE . ) oo oo
-25-20-15-10 5 0 5 10 15 20 25 -25-20-15-10 5 0 5 10 15 20 25 10 15 20 25 095=20-15-10 =5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 F 2 g 2
g I 8 g g
“10°F it = £
3 ] %].O g
F = & S
r a
10° 310
10°
10?
10
10
1
1
o o NP e
3 g
14 .- x 1
- - 0.958t-1-k--HE&E - - =% - -giiHtUHF L - --- 0.95
%5020 -10 0 10 20 30 550 10 20 30 %% =20 -10 0 10 20 30 %520 -0 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


